Lesson 7: Formative Assessment 2
Using the provided excel spreadsheet (Download groin_updrift_model.xlsx), compare the performance of a 50 m breakwater and a 15 m breakwater. 

1. [bookmark: _GoBack]Approximately how long does it take from the shoreline directly updrift of the groin to accrete at least 10 m seaward.  Evaluate two groin lengths (15 m, and 50 m)? Using the corresponding time from the previous questions, report the shoreline accretion at a location that is 500 m updift of the groin for each groin length? (select your time from the available solutions in the spreadsheet, corresponding to 5,10,25,100 and 365 days)









2. What has a greater effect on the shoreline and produces more accretion, a doubling of the incident wave angle or a doubling of the wave height? Evaluate this using a groin that is 50 m long.









3. With Hb of 1 m, αb of 10°, and Groin Length of 15 m, how does reducing the beach grain size by 0.05 mm affect the shoreline evolution? Does it erode or accrete? (Note: it may help if you focus at one location updrift of the groin to evaluate this)
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